MOBILE BOOK STORE SHELVINGASSEMBLY INSTRUCTIONS

1. LAY PANEL
ON CARPETED
FLOORAS SHOWN

(BOTH PANELSARE

THE SAME)

PARTS: (2) UPRIGHT PANELS, (1) VERTICAL TOPFRAME,(2) MOBLE

CARTS, (2) BACK PANELS(OPTIONAL SIGN HOLDER)

HARDWARE: (4) 2-3/4"x1/2" BOLTS(8) 1"x1/2" BOLTS(12) LOCK WASH-
ERS(4) 1-1/4” WASHERS (6) 5/8" SCREWS (OPTIONAL (2) 1-1/4” SCREWS)
TOOLS: 1/2” SOCKET OR BOX WRENCH - PHILIPSHEAD SCREW DRIVER

DONOTATTEMPTTO
ASSEMBLE THISUNIT
WITHOUT CONSTANT
HELPTOASSURE PROPER
ALIGNMENT AND SAFETY

PANEL EDGEBAND

TOP CAP,

(-]

[
BOTTOM EDGE

TOPFRAME CAP

§

VERTICAL TOPFRAME/Eow <z

2. PLACEVERTICAL TOP
FRAME ONTO PANEL AS
SHOWN. ALIGN TOPFRAME
CAPW/BOTTOM OF PANEL

EDGEBAND. TOPFRAME CAPBOT-

TOM EDGESSHOULD BECENTERED
OVER THE PANEL GROOVESON EACH

) PANEL GROOVES

A

MOBILEFRAME

TOEKICK "
B I

)
i&’
/
PANEL EDGEBAND %‘

=

=

SIDE.HANDTIGHTEN 2-3/4"x 1/2" BOLT WITH LOCK WASHERS.
BEGIN TIGHTENING WITH WRENCH MAKING SURE TOPFRAME
CAPSTAYSALIGNED WITH PANEL EDGEBAND & CENTERED
OVER PANEL GROOVESON BOTH SIDES. DONOT OVER

TIGHTEN.

3.PLACEMOBILE
FRAME ON PANEL
AS SHOWN.
FRAME FLANGE
SHOULD REST
SNUGAGAINST
PANEL.ALIGN
TOE KICK WITH
PANEL EDGE-
BAND. HAND
TIGHTEN 1"-1/2
BOLT WITH LOCK
WASHER. BEGIN
TIGHTENING
WITHWRENCH
MAKING SURE
FLANGE STAY S
SNUGAND
TOEKICK RE-
MAINSALIGNED.
DONOT OVER
TIGHTEN.



4. LAY OUT THE SECOND PANEL ASIN
STEPONE. NEVERWITHOUT HELP

-WITH THEVERTICAL
TOPFRAMEAND TWO
MOBILE FRAMES 5.GENTLY SLIDE
77| SECURELY FASTENED BACKSINTO
GENTLY TURN THE PANEL GROOVES
FIRST ASSEMBLY COMPLETLY INTO
) ONTO THE SECOND THEPANEL UNTIL IT
PANEL ASSHOWN REACHESTHE
NP ANDALIGNTHE BOTTOM OF THE
VERTICAL TOPCAPALONG EDGEBAND TOPFRAME CAP.

AND CENTERED OVER PANEL GROOVES
ASBEFORE. HAND TIGHTEN, CHECK
ALIGNMENT BEFOREAND DURING TIGHT-
ENING WITH WRENCH. DONOT OVER
TIGHTEN.ALIGN TOEKICKSASBEFORE
MAKING SURE FLANGE ISSNUG
HANDTIGHTEN, CHECK ALIGNMENT BE-
FOREAND DURING TIGHTENINGWITH
WRENCH. DONOT OVER TIGHTEN.

6.IMPORTANT! TWO PERSON
STEP. ASONE PERSON PUSHES
THE BOTTOM OF THE BACK
TIGHT AGAINST THE TOPFRAME
CAP, SCREW (1) SMALL WOOD
SCREWATANANGLE
(TOESCREW) IMMEDIATELY
NEXT TOTHE BACK INTO THE
PANEL SOTHAT THEBACK WILL
REMAIN IN PLACE. REPEAT FOR
OTHERBACK.DONOT TURN
UNIT OVERYET.

Find Gaylord® Americana® Mobile Bookstore Shelving Display Unit @demco.com
Search: 2051927

Call 800.962.4463 or email custserv@demco.com

7. BEFORE REPEATING
STEP6AND THISSTEP
ON OTHER SIDE -
STILL WHILE ONE
PERSON PUSHES THE
BOTTOM OF THE
BACK TIGHT AGAINST
THE TOPCAPAND
NOW THE MOBILE
FRAME - SCREW (2)
SCREWS THROUGH
THEHOLESIN THE
MOBLE FRAME INTO
THE BACK ASSHOWN
BELOW.

8. CAREFULLY TURNTHE
UNIT ONTOTHE OTHER
PANEL AND REPEAT EXACTLY
STEPS X AND THEN SEVEN.

9. TWO PEOPLE TURN UNIT UPRIGHT.
PLACEBOTTOM SHELVESIN FRONT
EDGE FIRST PRESSING GENTLY DOWN
IN THE BACK. PLACEPINSSMOOTH
END INTOHOLE. (OPTIONAL SIGN
HOLDER, CENTER ON TOPFRAME CAR,
WHILEBEING
HELD FIRMLY IN
PLACE. SCREW
THROUGH
HOLESIN
HOLDER INTO
TOP CAP. FOR
BEST RESULTS
MARKAND
DRILL PILOT
HOLESIN TOP
CAPBEFORE
FASTENING
HOLDER.




